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‘No. of Questions : 100
Ul @t AT : 100
Time .*2% Hours Full Marks : 300
W:E% gug qOTE - 300

Note : (1) This question booklet contains 100 {(hundred) questions in all
(30 in Bection - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 (three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.

FH He-gitaem # Hw 100 (&) uw ¥ (@vs- @ ¥ 30 7
qE-F H 70 )| SRefF w F oz aRY W v B
TA% 9T 3 (M) ot W ¥ e T gov & T 0w
% BTl ST TAF FAART 9T B AGE g O

(2] If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

A T AT IO g€ IR B Freve gl &, at Peeaw
q8 Gav &

P‘Tinl
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01.

SECTION - A
G vs - H

The most important factor that makes class room teaching more
interesting is :
(1) content of topic (2) lesson plan
(3] teacher’s personality (4] teaching method
Fen § R A R VI TR FH FEY AEAT 9 &
(1) are & fAvgasy (2) e A
(3) Temrr & aufRrg (4) T I &
What do you consider as the most effective step to control the lower-

ing of standard of Education ?

(1) Have more teachers.

{(2) Impart better training to teachers.

(3) Qualitative improvement in the overall education system.
(4) Parental awareness towards children’s homework.

R & W@ & fiee & gt & & dwa 3 R ony B awd
gHTaITA! AT & 7

Jg
(1) =eT [9ess TEAl
(2) Trert @ S8av givwer Remr
(3) T Rren ggf § IomeRE UK AN
4) ==t & 2 FE & ofy JEr-far 7 SISl S

As per Continuous and Comprehensive Evaluation (CCE] ~ Compre-

hensive means : |

(1) Assessment of only educational development of the child's
personality. ‘

(2) Assessment in schelastic as well as co-scholastic aspect of the
pupil’s growth.

(3) Assessment of scholastic aspect only.

(4 nssessment of co-scholastic aspect only.
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RréaY Ud @9% FEAE (CCE) 3 STIHIR &% H i ¥ :

(1) = ¥ =Rk © Paa Julees Rera 5 e

(2) Pt & fem 3 AR D au-wer Te-Afw geq oA
Fryfeer

(3) Haw At gug 7 Pyl
4) = we-dfkm veg T faiRer

Who is an effective teacher ?

A teacher :

{1} whose class is disciplined.

(2) who asks questions in the class.

(3) who teaches with cn_musiasm in the class.

(4) who makes his subject matter readily comprehensible.
P Th THENR SISEGE ¥ 7

T AAE :
(1) R wem sryenfe &)

{2) o W ¥ weA YRR el

(3) ot Seere ¥ war &)
(4) S TOSEEEg W SwE SR 8

Teaching should be :
(1} curriculum centered. (2) child centered.
(3) teacher centered. (4) society centered.

S P.T.0.
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foreror =B -
(1) 9Zashy Sfaa 8T aifed | (2) sroiEa 29 a@fed
(3) AemTd ST s et ) (4) o BfEa 8.1 TRy

06. Suppose a student suddenly makes noise in your classroom, what

will you do ?

{1} I will give him punishment.

(2) 1 will ask him to go out.

(3] I will ignere.

(4} Twill call his/her parcnts.

I ST STI9T AT F oTeeieh U ST SATEreT FiekTer 8, @I &
¥ 7

(1) % 38 =g Hem)

(2) # 38 AT T A FHgA |
(3) # e 7 gmy

(4) ¥ Jud afdramEa® H gors |

07. The most important factor in learning is
(1) teacher's teaching method. (2] parent’s cooperation.

{3) student’s will to learn, (4) learning material.
e # wed dewget Hee B o

(1} forerer @1 fareyor fafer (2) fHeEs & g8ar)
(3) w13 G H F= (4) I wrE
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08. If majority of students in a teacher’s class are weak in their studies
he should :

{1) ignore them. :

(2) take care of bright students only.

(3) continue his teaching as he was teaching.

{4) keep his teaching slow and give some extra guidance to bright
students.

R O SIS #i Far F ARmEr s oo T # e B oY

I

(1) g arREt HE anfed )

(2) D@ Fuw SEF W & @AF F ARy |

3] 9T fAmpor S T e |

(4) 19 freor &t A @ i BT o eET @ g afaRE
PRy Jem & e |

09. What a teacher should do if he has to maximize students’ participa-
tion in teaching ?
{1} he should give more lectures in the classroom.
(2) he should initiate classroom discussion on the topic.
(3) he should ask students to read textbook in the classroom.
(4) he should use audio-visual equipments in the classroom.

9% U STEAIYFE o HET § BEl B GeHNAT agF & of 39 &
HFC THed 7

(1) =@ ofk aifts &remm &+ =nfed

) A Rvg-g8g W 3T Rer s o |

(3) S P H [WE F A€ HIT B FeA AR |
(4) TH FE F geo ST @A B IR B ARy |

P.T.0,
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10.

11.

12.

Which of the following qualities in a teachers is most admired by

students ?
(1}  Punctuality {2) Strict sense of disciplines
(3) Impartial attitude (4) Self confidence

SRl BN e e B ReE I o aad s e o S
g7

(1) ratrsT (2) |ET FAFATEA W

(3) e ToE (4) eTeIRET

Sarva Siksha Abhiyan had aimed to provide quality education to all

children of 6-14 years by :

(1) 2008 2) 2012 (3) 2010 (4) 2014
wefamn s @ Teg o1 | 6-14 ad & a=At W U@
famn T o

(1) 2008 dF (2) 2012 %F
(3) 2010 Th (4] 2014 T

Document ‘Learning without Burden’ was published in :

(1) 1991 {2) 1993 (3) 1992 (4] 1994
At fggende a9’ SEEw TR ge 9

(1) 19917 20 19937 (3) 1992H (4) 1994
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NCF 2005 has how many curricular areas ?

T Qv 2005 & e remw dW 2 7
(1) 20 (2) 23 (3 21 (4) 24

‘Eklavya’ organisation has developed a different approach to primary
education.

(1) In Madhye Pradesh (2) InMaharashtra

(3} In Kerela (4) In Rajasthan

‘TF @ %-m-m-,m,:ﬁ: T T & IIFH &
freer R 214

(1) 7= 927 § (2) wErrs 7

3) Ww A (4) TR ¥

Which eountry will host the 2017 World Envirenmental Education
Congress (WEEC) ? ‘

(1) Canada (2) India

(3) Ttaly 4 USA

2017 AT A= TR Hive (suy.§.§.50.) R Jomrd A
3 o 7

(1) et (3] W&

(3) see (4) Z.0E.T.

P.T.0.
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16.

17.

Sri Lanka has recently launched a website PERU to create awareness

on reconciliation among children. What is the full form of “PERU" ?
(1) Peace Education and Reconciliation Union

{2} Peace Education and Reconciliation Unity

(3) Peace Education and Reconciliation Unitary

{4) Peace Education and Reconciliation Unit

siici ¥ ot = # & PERU AW 3 ITEEE W SO T={ §
A T & G ofeTeemdl Sea Hed &g ear ? PERU 7 R
W BT

(1) ueke oS ReieeT IR

(2) 99 odae avs e g

(3) 9 oI ovs FedifvusE giied

(4} b uophe ovs Redifae giee

Which state gevernment has provided free Wi-Fi facilities to his edu-

cational institutions ?

(1) Kerela (2) West Bengal

(3) Bihar (4) Orissa

B § R B GER T YA A P YIS 13 B ol g
gETT St B 7

(1) 3@ () wi¥Ed &I

(3) farez (4) IR

10
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Who has won the 2017 Global Teacher-Prize ?

(1) Salima Begum (2) Ken Silburn

(3) Raymond Chambers (4) Maggie MacDonnell
fre 2017 9 %9 TGS YT ofar & 7

(1) =T () @ faeEn

(8) ¥vE I|H @) Rl

Who is the present director of NCERT ?
(1) Prof. J.S. Rajput

(2) Prof. Parvin Kiran Sinclair

(3] Prof. AK. Sharma

(4) Dr. Hrushikesh Senapati

g % R A B PRy A R ?
(1) 9. . TH. oA

(2) W. e e o

(3) . . &H.

(4) =1, EElRmm

Which state government has made Sanskrit compulsory up to class
VIl in all classes ?

(1) Rajsthan (2) Assam
(3) Gujrat (4) Keaela

11 P.T.0.
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21.

22.

FE URY & GIHN A FEN IS 4% S @l wenell § gegd @
arierard wY Rar & 7

(1) oY= 2) @EH
3) ToE : (4) oA

Mohan goes 15 km towards North, then turns left and moves 10 km.
Then he turns left and moves 15 km. In which direction he is moving

now @

(1} North (2) East (3) West (4] South

WreT 15 Ref. soc Ren # awer 8 1 BT 98 91Q g3 o 2 &R 10
Rt wer B | f5T aFY Tt 15 fdt. aoa & @ o Fea R ¥
a9 W' 7 '

(1) = @2 W (3) df¥e™ (4) Y

E is sister of B, A is father of C, B is son of C then what is the relation
of AwithE 7

(1) Grand father (2) Grand daughter

(3] Father (4) Grand mother

EBRIEAZIACH U@ EIB,CH ITE, T A H € E TN
ey B 7

(1) &g 2) 9=

(3) T (4) TR

1%
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24.

170/91/30(i)

P and Q are of same age. R is younger to S. T is younger to R but
elder to P. who is the eldest ?

P % QMg wt:nsﬁ@a%wn%éﬁtﬁiﬁ?
ot wd s B & ?

(1) P 2 Q (3 R (4} S

If PAIR is written as OCLV then TOWN will be written as ......

X PAIR & R OCLV f¥em @@ &t TOWN & RS 7ar Rrar
AT 7

(1) SQZR 2) QSZR (3] UQZR (4} VPZR

According to English Dictionary which of the following word will be
on 4t place P

aimﬁwﬂ&m%eﬁﬂﬁﬁﬁﬂ“ﬁ”%;hﬁwﬁmﬁ
& P
(1) Encradle | {2) Encourage

(3) Encroach (4) Encounter

If the seventh day of a month is three days earlier than Friday, what
day will it be on the nineteenth day of the month ?

(1) Sunday (2) Monday

(3) Wednesday (4) Friday

13 P.T.O.
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27.

28.

29,

afx e & dxEr 3 gEpaT & &9 R ged g & A A &
I=irear f& = 8 ?

(1) R (2) EHER

{3) 994X (4) AT

If it was Saturday on 17 December 2002, what was the day on 22™
December, 2004 ?

{1' Monday (2) Tuesday

{3) Wednesday (4) Sunday

afx 17 Rerae, 2002 F aiftEr o, 22 REs, 2004 #t B &=
gqr v

(1) e (2] WA

(3] gHER (4) TEr

If you write down all the numbers fromm 1 to 100, then how many
times do you write 3 7

afr sy 1/ 100 of6 @ RGN, @ R % e 3 of R
(1) 11 (2) 18 (3) 20 4) 21

A is 3 years older to B and 3 years younger 1o C, while B and D are

twins. How many years olderisC te D ?

saoadsatam ® AT w @ 3 B ¥, Ak g AT I B,
z @ fpa ad s=1 B °

1y 2 2 3 (3) 6 4 12

14
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30. A is three times as old as B, C was twice as old as A four years ago. In
four years time, A will be 31, What are the present agesof Band C ?

ﬂ;ﬂﬁﬁ?wwﬁ,ﬂ,mﬁﬁaﬁmﬁﬁmmm
ad % o1 31 af @ & oA | A T T o IR | H AY W
g7

(1] 9,46 2) 9,50
3) 10,46 (4) 10,50

5
1 P.T.0,
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SECTION - B
g - §

31. *ﬂﬁwa@r’%mwwﬂﬂm%?
(1) ey (2) ST
(3) SR (4) RETOW

32. ‘oAU Al @19 o B 7
(1) 39 & g Al e a9/ (2) FgTArs
(3) FrErEal (4) FH-FET AT FH oA T

33, ‘Fuet e oo B ?
() ‘e & R
(2) ‘= & _
3) ‘@ & 9D T 9w
(4) 9= & UBA JSHL AU A= F AHR A AT

M. 74 q @ BT HE?
(1 4 (@) ®
3 g (4 &

35, ‘SNEE R/ B ?
(1) -39 (2) FH A9y
(3) AR S&a™ (4) TH-AE

16



36, g & fvm e FE ¥ 7
(1) =af
(3) Bem W=

37. ‘@l W oad ¥
(1) 9t A ST
(3} THE & T

38. ‘FeE o s ¥ "

17U/91/304)

(2) *H
4 frgryer-Rrgeg

(2) A= o A
(4) STT® B AT

(1) T ) o

(3) W (4) FHHA
39. ‘Rraz @ s R

(1) |8 (2) GEe

@) g (@) AR
0. TR ATE B A ¥ ?

(1) S T (2)

(3) T {4) 49
41, ‘gl w1 qATTETR R FEEEY

(1) Sers (2) Sy

(3) o (4) oNEg

17 P.1.0.
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42,

43,

a4,

47,

Rl & e forer iy o & 7

(1} 8 (2) 6 3) 7 . (4) 5

T q ‘FEET BT @ k7
(1) 7 52 sEeT (2) TBT I
8) STE 1 oieT AW TaTg@  (4) SR H AT TG

TR QS IS ¥, 36 A g’ e g 2 7
(1) |d=m (2) 5w
(3) Fram (4) " g

T A BT I o ol aE B 7

(1) HarEs (2) BB
(3 ForeT (4) TTHE
. T | @ e 98 L 7
(1) = (2) SeEE fii
(3) &= (@) ATaE
-0 & @5 o1 g 2
(1) aged (2) &=
(3) wgehfE (4) FHERE

18
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as. ‘qreEdy IR B €Uk B A 7
(1) sl s fEEd (2) TR TA
(3) SITEG™T HE (4) wedx wa faad
49. Wy dfme & ager R R
(1) TSIV (2) EoH-wTT
(3) =TT (4) g
50. ‘A’ & Tatdar BT § 7
(1) FErear fHe I (2) Hferelterer I
(3) WrE W Egad (4) TR B
51. 397 ‘WeW TSV B @R 7
(1) & @3 (3) A @ ¥
52. st § ArTd R & yde wE e ¥ fhedhl st ST
ot ?
(1) wewar g (2) ToTA FHET AEA
(3) ST A 9 (4) HOFA WEA HIEN HIeEd
53, 4 1 A gEERTs P ¥ ?

19 P.T.O.
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54. s Ml o Hire ¥ Rramfr ?

(V) B9 gy fEad (2) ST
(3) WIEE 9T (4) TEIfdE st
55. U9 REetusd WEarE @ g ——me—eeem HETRFR Tad |
(1) FIEEEy (2) gepiemy
(3) xgar (4) I
56. ITHIRT -~ Rt afeferafeer |
(1) @ - grdar: (2) ¥ - FHrAr
(3) F=T - o (4) Er9dy - S
57. FPARATTE QAT ———~—————- |
(1) T (2) wiferETH:
(3) = (4) wmE:
58, s¥Efa® TERET ~~--m——mmm Ca el
(1) feEm: (2) L&D
{3) droTHE: (4) a9
59. JEHE AT ~—~———-- qed |
(1) JeaeBieey {2) FHEaEgETy
(3} YTt (4} TERIEEY

20
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60. TT-THTAA AH - - ot |
(1) TouRa @) Frfaafd
(3) Rrggaverd (@ Sl
61. ‘T grEr TRATR: A = T |
(1) FE (2) Y
(3) R (4) ST
62. ‘T TN FIOR SFENGHIE TR Y~ i |
(1) ufersafe (2) TEmY
(3) T . (4) afersfr
63. AR+TEY - Ty N % 9t 7
(1) R e R
(3) 9d | (4) T

64, PRy v & oW ¢
(1) ey (2} STt
(3) TR (4) HIYR

65. ‘a:qﬁnﬁwﬁ’mmwl
(1) &8 ST & {2) TE °T AN |
@) & et e §) @ ¥ av s

21 P.T.O.
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66. ¥z IR fomaer
(1) 3% o fyafyry (2) o€ & Tmiey )
() © % wesfy) (4) & T8 Bk
67. ‘SR FARETEY GARE e T e |
(1) "iea (2) =
@) ¥ ()
68. T-AfrRar: Har: —--~-—--- FufEfy Tefr )
(1) Ssmarey (2} #9
(3) T @) Brarg
69, - TR TEHR TAN: WART T |
{1) geTpof (2) BT
(3} ITTII™ (4) I
70. SR GREr ————---- TE |
(1) STt (2) wifew
(3) AT (4) 7g
71 G - Yoeg T A |
(1) =9; (2) aTerd
@) #% R

22
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72. e ————-—----- FART |

(1) ToY @ @&y

(3) HFTY 4) TEGY
73. (Eaa afbar |

(1) SR (2) dRE:

(3) =TE: . (4) QifereT:
74, LAY ——— qivet |

(1) v=4. (2) SR

(3) ¥g (4) qa

(1) = (2) =T

(3) TR (4) wfaeifey
76. ~- faftmta el 7 39R8: )

(1) g4 (2) ST

(3) T (4) IR
77. SRR ©f —--——- "9 |

(1) == (2) =

(3) (4)

23
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78. Which of the following alternatives is closest in meaning to the word

79.

80.

81.

SCORN 7
(1) Concise [2) Bias
(3] Despise (4) Fierce

What is the antonym of the word REDUNDANT ?
(1) Repentani (2) Surplus
(3) Singular (4) Required

Which preposition is suitable for the blank in the following sentence ?
He climbed «--------- the tree :

(1} To (2] Over
(3} Up (4) On

Which one of the following is correctly spelt. Find out the correctly
spelt word.

(1) Aneasthesia (2) Anesthesia
(3) Anaisthesia (4] Anaesthesia

Which of the four options is the suitable answer to the blank in the
following sentence ?

No sooner did the finish his speech ------------—- the audience began
applauding.

(1} Than (2) When

(3] While (4) When

24
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Which of the four options is appropriate to fill in the blank in the
following senterice ?

There is nobody -- RESSHRER home.
(1) On (2] At
(3) Inside (4) In

. Which of the following four options means :

‘A handwriting which. is difficult or impossible to read’ ?
{1} likicit - (2) Illegible
(3) Eligible (4) Illegitimate

Choose the appropriate passive voice of the f_ﬂllmwing sentence :

Why did he deprive you of the membership ?
(1) Why you were deprived of the mernbership ?
(2) Why were you deprived of his membership by him ?
{3) Why was he deprived of his membership ?
(4) Why were you deprived of your membership by him ?

Which of the four options is apprepriate to £ill the blank in. the following
sentence ?

The disease spread throughout the village because it was highly ---

{1) Couragcous (2) Outrageous
(3) Contagious (4) Nauseous

a8 P.1.0.
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87. Choose the one which best expresses the meaning of the word

'ADVERSITY" :
(1)  Misfortune (2) Adversary
(3) Dismissed (4) Opponent

88. Choose the correct indirect speech of the following sentence :

The visitor said to them, "Please give me a glass of water."

(1} The visitor said to them to give him a glass of water.
(2) The visitor requested them to give him a glags of water.
[3) The visitor ordered them to give a glass of water.

(4) The visitor said please give him a glass of water.

89. Which of the four options means :
'One who knows everything' ?
(1) Omnipresent (2) Omnipotent

(3) Omniscient (4) Almighty

90. Which of the four alternatives is appropriate to fill in the blank in the

following sentence ?

The pilot was not feeling so well before he ----------- in his helicopher :
(1) Took away (2) Took up
(3] Tookover (4) Took off
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91, What is the verb form of the word TRANSFORMATION' ?

92.

gal

94.

(1) Transfuse | (2) Transform
(3) Transfer (4) Transfix

What is the adjective, form of the word 'PICTURE' ?
(1) Portray ~ (2) Picturize
(3) Pictorial (4) Portrait

Choose the correct direct speech of the following sentence :
He asked me if [ had been ill :

(1) He said to me, "Are you ill" ?

(2) He said to me, "Were you ill" ?

(3) He said to me, "Had you bccnli]]“ ?
{4) He said to me, "Have you been ill" ?

Which of the following four options means 'A former student of a
school, college or university' ?

(1} Scholar (2) Learner

(3) Genius (4) Alumnus

'‘Sheela looked down on her classmates because she was richer than
they were'.
'What is looked down on' ?

(1) An Ildiom {2} A Phrasal verb
(3) A Metaphor (4) An Adverbial clause

27 P.1.0.
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96.

97.

98.

The old and incompetent must make room for the young and competent' :

What is 'make room for' ?

(i An Idiom (2) A Phrasal verb

(3) A Metaphor (4} A Predicate

The Guide is a novel by whom ?

(1} Mulk Raj Anand {2) Raja Rao

(3) R. K. Narayan (4) Khushwant Singh

‘Throughout history, both ancient and modern, men were found of
waging war' :

A part of the sentence is underlined. Choose the correct altermative

for the underlined from the following words.

(1) Had been (2) Have been

(3] Are (4) Would have been

Which of the following is a Distributive Adjective ?
(1) All ‘ (2) Our

{3) Myself (4) Each

28
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100. Which of the following four options is suitable for the blank in the
following sentence 7

How much did you spend -------—-------- the roses ?
(1} oOf (2) From
(3i On 4) In

49 10000
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ROUGH WORK
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ROUGH WORE
OF T
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